



Available online at <http://scik.org>
Adv. Inequal. Appl. 2018, 2018:10
<https://doi.org/10.28919/aia/3621>
ISSN: 2050-7461

OSTROWSKI AND OSTROWSKI-GRÜSS TYPE INEQUALITIES FOR VECTOR-VALUED FUNCTIONS WITH k POINTS VIA A PARAMETER

SETH KERMAUSUOR

Department of Mathematics and Computer Science, Alabama State University, Montgomery, AL 36101, USA

Copyright © 2018 Seth Kermausour. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we provide an extension of the Ostrowski's inequality for vector-valued functions for k points via a parameter. We also provide a sharp Ostrowski-Grüss type inequality for vector valued functions for k points. Our results generalize some of the results for the real-valued case in the literature.

Keywords: Montgomery's identity; Ostrowski's inequality; Grüss inequality; Bochner integral; Banach spaces.

2010 AMS Subject Classification: 26D15, 26D10, 46B25.

1. Introduction

Throughout this paper, $(X, \|\cdot\|)$ denotes a Banach space over the real numbers.

Definition 1.1. X is said to be a Radon-Nikodym space if every absolutely continuous X -valued function is almost everywhere differentiable.

It is well-known that every reflexive space is a Radon-Nikodym space. For example every Hilbert space is a Radon-Nikodym space. However, the space $L_1([0, 1])$ of all integrable functions defined on the interval $[0, 1]$, endowed with the norm

$$\|g\|_1 := \int_0^1 |g(t)| dt$$

E-mail address: skermausour@alasu.edu

Received December 19, 2017

is not a Radon-Nikodym space.

Definition 1.2. Let $a, b \in \mathbb{R}, a < b$ and $f : [a, b] \rightarrow X$ be an X -valued function. f is said to be Bochner integrable if and only if the real-valued function $\|f\| : [a, b] \rightarrow \mathbb{R}$ defined by $\|f\|(t) := \|f(t)\|$, is Lebesgue integrable on $[a, b]$.

We will denote the Lebesgue integral of a real-valued function g by $\int_a^b g(t)dt$ and denote the Bochner integral of an X -valued function f by $(B) \int_a^b f(t)dt$.

The integration by parts formula holds for the Bochner integral under the following conditions.

Theorem 1.1. Let $a, b \in \mathbb{R}, a < b, g : [a, b] \rightarrow \mathbb{R}$ and $f : [a, b] \rightarrow X$. Suppose f and g are both differentiable, and the functions gf' and $g'f$ are Bochner integrable on $[a, b]$, then

$$(B) \int_a^b g(t)f'(t)dt = g(b)f(b) - g(a)f(a) - (B) \int_a^b g'(t)f(t)dt$$

Theorem 1.2. If $f : [a, b] \rightarrow X$ is Bochner integrable then

$$\left\| (B) \int_a^b f(t)dt \right\| \leq \int_a^b \|f(t)\|dt.$$

For more information on the Bochner integral we refer the reader to [4] and [8].

In 1938, the Ukrainian mathematician Alexander Ostrowski [11] obtained an inequality known in the literature as Ostrowski's inequality to provide a bound for the difference between a real-valued function and its integral mean. This result is stated in the following theorem;

Theorem 1.3. Let $f : [a, b] \rightarrow \mathbb{R}$ be continuous on $[a, b]$ and differentiable in (a, b) and its derivative $f' : (a, b) \rightarrow \mathbb{R}$ is bounded in (a, b) . If $M := \sup_{t \in (a, b)} |f'(t)| < \infty$, then we have

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t)dt \right| \leq \left(\frac{1}{4} + \frac{(x - \frac{a+b}{2})^2}{(b-a)^2} \right) (b-a)M \quad (1.1)$$

for all $x \in [a, b]$. The inequality is sharp in the sense that the constant $\frac{1}{4}$ cannot be replaced by a smaller one.

This inequality has been studied and extended in several different ways by many authors over the past years. For more information about the Ostrowski inequality and its associates, we refer the reader to [1, 2, 5, 6, 7, 9, 10, 12]. In 2002, Barnett et al [2] extended Theorem 1.3 for vector-valued functions in the following theorem.

Theorem 1.4. Let $(X, \|\cdot\|)$ be a Banach space with the Radon-Nikodym property and $f : [a, b] \rightarrow X$ an absolutely continuous function on $[a, b]$ with the property that $f' \in L_\infty([a, b], X)$, i.e. $f' : [a, b] \rightarrow X$ and

$$\|f'\|_{[a,b],\infty} := \operatorname{ess\,sup}_{t \in [a,b]} \|f'(t)\| < \infty$$

Then we have the inequality

$$\left\| f(s) - \frac{1}{b-a} (B) \int_a^b f(t) dt \right\| \leq \left(\frac{1}{4} + \frac{(s - \frac{a+b}{2})^2}{(b-a)^2} \right) (b-a) \|f'\|_{[a,b],\infty} \quad (1.2)$$

for all $s \in [a, b]$.

The purpose of this paper is to extend Theorem 1.4 for k points via a parameter which will be done in Section 2. In Section 3, we provide a sharp Ostrowski-Grüss type inequality for vector-valued functions by using a sharp Grüss inequality obtained by Barnett et al in [3]. Our results extends some of the results in the literature for real-valued functions to the case of vector-valued functions. In addition, we consider some particular cases as examples.

2. Ostrowski inequality for vector-valued functions for k points

To prove our main results, we obtained the following generalized Montgomery identity for vector-valued functions. In what follows, we assume that $(X, \|\cdot\|)$ has the Radon-Nikodym property. We first define the following kernel function which was first provided by Xu and Fang [12];

Definition 2.1. Let

- (1) $a, b \in \mathbb{R}$, $\lambda \in [0, 1]$, $I_k : a = x_0 < x_1 < \cdots < x_{k-1} < x_k = b$ is a partition of the interval $[a, b]$,
- (2) $\alpha_i \in \mathbb{R}$ ($i = 0, 1, \dots, k+1$) is $k+2$ points so that $\alpha_0 = a$, $\alpha_i \in [x_{i-1}, x_i]$ ($i = 1, \dots, k$) and $\alpha_{k+1} = b$,

we define the kernel function $K(\cdot, I_k) : [a, b] \rightarrow \mathbb{R}$ as follows;

$$K(t, I_k) = \begin{cases} t - \left(\alpha_1 - \lambda \frac{\alpha_1 - a}{2} \right), & t \in [a, \alpha_1), \\ t - \left(\alpha_1 + \lambda \frac{\alpha_2 - \alpha_1}{2} \right), & t \in [\alpha_1, x_1), \\ t - \left(\alpha_2 - \lambda \frac{\alpha_2 - \alpha_1}{2} \right), & t \in [x_1, \alpha_2), \\ \vdots \\ t - \left(\alpha_{k-1} + \lambda \frac{\alpha_k - \alpha_{k-1}}{2} \right), & t \in [\alpha_{k-1}, x_{k-1}), \\ t - \left(\alpha_k - \lambda \frac{\alpha_k - \alpha_{k-1}}{2} \right), & t \in [x_{k-1}, \alpha_k), \\ t - \left(\alpha_k + \lambda \frac{\alpha_{k+1} - \alpha_k}{2} \right), & t \in [\alpha_k, b], \end{cases} \quad (2.1)$$

for all $t \in [a, b]$.

Lemma 2.1. [Montgomery Identity for vector-valued functions with k points.] Suppose that $f : [a, b] \rightarrow X$ is an absolutely continuous function on $[a, b]$. Then for any $\lambda \in [0, 1]$, we have the identity

$$\begin{aligned} (B) \int_a^b K(t, I_k) f'(t) dt &= (1 - \lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) \\ &+ \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) \left(f(\alpha_i) + f(\alpha_{i+1}) \right) - (B) \int_a^b f(t) dt \end{aligned} \quad (2.2)$$

where $K(\cdot, I_k)$ is given in Definition 2.1.

Proof. First, we observe that

$$\begin{aligned} (B) \int_a^b K(t, I_k) f'(t) dt &= \sum_{i=0}^{k-1} \left[(B) \int_{x_i}^{\alpha_{i+1}} \left(t - \left(\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2} \right) \right) f'(t) dt \right. \\ &\quad \left. + (B) \int_{\alpha_{i+1}}^{x_{i+1}} \left(t - \left(\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} \right) \right) f'(t) dt \right]. \end{aligned}$$

By applying Theorem 1.1, we have

$$\begin{aligned}
(B) \int_a^b K(t, I_k) f'(t) dt &= \sum_{i=0}^{k-1} \left[(\alpha_{i+1} - (\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2})) f(\alpha_{i+1}) \right. \\
&\quad - (x_i - (\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2})) f(x_i) - (B) \int_{x_i}^{\alpha_{i+1}} f(t) dt \\
&\quad + (x_{i+1} - (\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2})) f(x_{i+1}) \\
&\quad \left. - (\alpha_{i+1} - (\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2})) f(\alpha_{i+1}) - (B) \int_{\alpha_{i+1}}^{x_{i+1}} f(t) dt \right] \\
&= \sum_{i=0}^{k-1} \left[\lambda \frac{\alpha_{i+1} - \alpha_i}{2} f(\alpha_{i+1}) - (x_i - \alpha_{i+1}) f(x_i) - \lambda \frac{\alpha_{i+1} - \alpha_i}{2} f(x_i) + (x_{i+1} - \alpha_{i+1}) f(x_{i+1}) \right. \\
&\quad \left. - \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} f(x_{i+1}) + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} f(\alpha_{i+1}) - (B) \int_{x_i}^{x_{i+1}} f(t) dt \right].
\end{aligned}$$

It follows that,

$$\begin{aligned}
(B) \int_a^b K(t, I_k) f'(t) dt &= \sum_{i=0}^{k-1} \left[\lambda \frac{\alpha_{i+2} - \alpha_i}{2} f(\alpha_{i+1}) - (B) \int_{x_i}^{x_{i+1}} f(t) dt \right] \\
&\quad + \sum_{i=0}^{k-1} \left[-(x_i - \alpha_{i+1}) f(x_i) + (x_{i+1} - \alpha_{i+1}) f(x_{i+1}) \right] \\
&\quad + \sum_{i=0}^{k-1} \left[-\lambda \frac{\alpha_{i+1} - \alpha_i}{2} f(x_i) - \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} f(x_{i+1}) \right] \\
&= \sum_{i=0}^{k-1} \lambda \frac{\alpha_{i+2} - \alpha_i}{2} f(\alpha_{i+1}) - (B) \int_a^b f(t) dt \\
&\quad - x_0 f(x_0) + x_k f(x_k) + \sum_{i=0}^{k-1} \alpha_{i+1} (f(x_i) - f(x_{i+1})) \\
&\quad + \sum_{i=0}^{k-1} -\frac{\lambda}{2} \left[(\alpha_{i+1} - \alpha_i) f(x_i) + (\alpha_{i+2} - \alpha_{i+1}) f(x_{i+1}) \right].
\end{aligned}$$

That is,

$$\begin{aligned}
(B) \int_a^b K(t, I_k) f'(t) dt &= \sum_{i=0}^{k-1} \lambda \frac{\alpha_{i+2} - \alpha_i}{2} f(\alpha_{i+1}) - (B) \int_a^b f(t) dt \\
&\quad + (\alpha_1 - a) f(a) + (b - \alpha_k) f(b) + \sum_{i=1}^{k-1} (\alpha_{i+1} - \alpha_i) f(x_i) \\
&\quad - \frac{\lambda}{2} \left[(\alpha_1 - a) f(a) + (b - \alpha_k) f(b) + 2 \sum_{i=1}^{k-1} (\alpha_{i+1} - \alpha_i) f(x_i) \right]
\end{aligned}$$

$$\begin{aligned}
&= \sum_{i=0}^{k-1} \lambda \frac{\alpha_{i+2} - \alpha_i}{2} f(\alpha_{i+1}) - (B) \int_a^b f(t) dt \\
&+ (1 - \lambda) \sum_{i=1}^{k-1} (\alpha_{i+1} - \alpha_i) f(x_i) + (1 - \frac{\lambda}{2}) \left[(\alpha_1 - a) f(a) + (b - \alpha_k) f(b) \right].
\end{aligned} \tag{2.3}$$

Now, consider the following

$$\begin{aligned}
&\sum_{i=0}^{k-1} (\alpha_{i+2} - \alpha_i) f(\alpha_{i+1}) = \sum_{i=0}^{k-1} (\alpha_{i+2} - \alpha_{i+1}) f(\alpha_{i+1}) + \sum_{i=0}^{k-1} (\alpha_{i+1} - \alpha_i) f(\alpha_{i+1}) \\
&= \sum_{i=1}^k (\alpha_{i+1} - \alpha_i) f(\alpha_i) + \sum_{i=0}^{k-1} (\alpha_{i+1} - \alpha_i) f(\alpha_{i+1}) \\
&= \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(\alpha_i) - (\alpha_1 - \alpha_0) f(\alpha_0) + \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(\alpha_{i+1}) - (\alpha_{k+1} - \alpha_k) f(\alpha_{k+1}) \\
&= \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - \left[(\alpha_1 - \alpha_0) f(\alpha_0) + (\alpha_{k+1} - \alpha_k) f(\alpha_{k+1}) \right].
\end{aligned}$$

So,

$$\begin{aligned}
\sum_{i=0}^{k-1} \frac{\lambda}{2} (\alpha_{i+2} - \alpha_i) f(\alpha_{i+1}) &= \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) \\
&- \frac{\lambda}{2} \left[(\alpha_1 - a) f(a) + (b - \alpha_k) f(b) \right].
\end{aligned} \tag{2.4}$$

Substituting (2.4) in (2.3) gives the identity

$$\begin{aligned}
(B) \int_a^b K(t, I_k) f'(t) dt &= (1 - \lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) \\
&+ \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - (B) \int_a^b f(t) dt.
\end{aligned}$$

This completes the proof.

Corollary 2.1. If we take $\lambda = 0$ in Lemma 2.1, we have the identity

$$(B) \int_a^b K(t, I_k) f'(t) dt = \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) - (B) \int_a^b f(t) dt \tag{2.5}$$

where

$$K(t, I_k) = \begin{cases} t - \alpha_1, & t \in [a, x_1), \\ t - \alpha_2, & t \in [x_1, x_2), \\ \vdots \\ t - \alpha_{k-1}, & t \in [x_{k-2}, x_{k-1}), \\ t - \alpha_k, & t \in [x_{k-1}, b]. \end{cases} \quad (2.6)$$

Corollary 2.2. Let $a, b \in \mathbb{R}, a < b$ and let $f : [a, b] \rightarrow X$ be an absolutely continuous function on $[a, b]$. Then for any $x \in [a, b]$ we have the identity

$$\frac{1}{b-a}(\mathcal{B}) \int_a^b K(t, x) f'(t) dt = (1 - \lambda) f(x) + \frac{\lambda}{2} (f(a) + f(b)) - \frac{1}{b-a}(\mathcal{B}) \int_a^b f(t) dt \quad (2.7)$$

where

$$K(t, x) = \begin{cases} t - \left(a + \lambda \frac{b-a}{2}\right), & t \in [a, x), \\ t - \left(b - \lambda \frac{b-a}{2}\right), & t \in [x, b]. \end{cases} \quad (2.8)$$

Proof. The proof follows directly from Lemma 2.1 by taking $k = 2, x_0 = \alpha_0 = \alpha_1 = a, x_1 = x$ and $x_2 = \alpha_2 = \alpha_3 = b$.

Theorem 2.1. Suppose f satisfies the conditions of Lemma 2.1, and $f' \in L_\infty([a, b], X)$. Then we have the inequality

$$\begin{aligned} & \left\| (1 - \lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) + \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - (\mathcal{B}) \int_a^b f(t) dt \right\| \\ & \leq M \left\{ \sum_{i=0}^{k-1} \left[\frac{1}{4} (x_{i+1} - x_i)^2 + \left(\alpha_{i+1} - \frac{x_{i+1} + x_i}{2} \right)^2 \right] \right. \\ & \quad + \frac{\lambda^2}{4} \left[\left((b - \alpha_k)^2 - (\alpha_1 - a)^2 \right) + 2 \sum_{i=0}^{k-1} (\alpha_{i+1} - \alpha_i)^2 \right] \\ & \quad \left. + \frac{\lambda}{2} \sum_{i=0}^{k-1} \left[(\alpha_{i+1} - x_{i+1})(\alpha_{i+2} - \alpha_{i+1}) - (\alpha_{i+1} - x_i)(\alpha_{i+1} - \alpha_i) \right] \right\} \end{aligned} \quad (2.9)$$

where

$$M = \operatorname{ess\,sup}_{t \in [a, b]} \|f'(t)\| < \infty.$$

Proof. We start with the following computation,

$$\begin{aligned}
\int_a^b |K(t, I_k)| dt &= \sum_{i=0}^{k-1} \left[\int_{x_i}^{\alpha_{i+1}} \left| t - \left(\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2} \right) \right| dt + \int_{\alpha_{i+1}}^{x_{i+1}} \left| t - \left(\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} \right) \right| dt \right] \\
&= \sum_{i=0}^{k-1} \left[\int_{x_i}^{\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2}} \left(\left(\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2} \right) - t \right) dt + \int_{\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2}}^{\alpha_{i+1}} \left(t - \left(\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2} \right) \right) dt \right. \\
&\quad \left. + \int_{\alpha_{i+1}}^{\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2}} \left(\left(\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} \right) - t \right) dt + \int_{\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2}}^{x_{i+1}} \left(t - \left(\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} \right) \right) dt \right] \\
&= \frac{1}{2} \sum_{i=0}^{k-1} \left[\left(\left(\alpha_{i+1} - \lambda \frac{\alpha_{i+1} - \alpha_i}{2} \right) - x_i \right)^2 + \frac{\lambda^2}{4} \left(\alpha_{i+1} - \alpha_i \right)^2 \right. \\
&\quad \left. + \left(\left(\alpha_{i+1} + \lambda \frac{\alpha_{i+2} - \alpha_{i+1}}{2} \right) - x_{i+1} \right)^2 + \frac{\lambda^2}{4} \left(\alpha_{i+2} - \alpha_{i+1} \right)^2 \right] \\
&= \frac{1}{2} \sum_{i=0}^{k-1} \left[\left(\alpha_{i+1} - x_i \right)^2 - \lambda \left(\alpha_{i+1} - x_i \right) \left(\alpha_{i+1} - \alpha_i \right) + \frac{\lambda^2}{2} \left(\alpha_{i+1} - \alpha_i \right)^2 \right. \\
&\quad \left. + \left(\alpha_{i+1} - x_{i+1} \right)^2 + \lambda \left(\alpha_{i+1} - x_{i+1} \right) \left(\alpha_{i+2} - \alpha_{i+1} \right) + \frac{\lambda^2}{2} \left(\alpha_{i+2} - \alpha_{i+1} \right)^2 \right] \\
&= \frac{1}{2} \sum_{i=0}^{k-1} \left[\left(\alpha_{i+1} - x_i \right)^2 + \left(\alpha_{i+1} - x_{i+1} \right)^2 + \frac{\lambda^2}{2} \left(\alpha_{i+1} - \alpha_i \right)^2 + \frac{\lambda^2}{2} \left(\alpha_{i+2} - \alpha_{i+1} \right)^2 \right. \\
&\quad \left. - \lambda \left(\alpha_{i+1} - x_i \right) \left(\alpha_{i+1} - \alpha_i \right) + \lambda \left(\alpha_{i+1} - x_{i+1} \right) \left(\alpha_{i+2} - \alpha_{i+1} \right) \right].
\end{aligned}$$

That is,

$$\begin{aligned}
\int_a^b |K(t, I_k)| dt &= \frac{1}{2} \sum_{i=0}^{k-1} \left[\left(\alpha_{i+1} - x_i \right)^2 + \left(\alpha_{i+1} - x_{i+1} \right)^2 \right] \\
&\quad + \frac{\lambda^2}{4} \sum_{i=0}^{k-1} \left[\left(\alpha_{i+1} - \alpha_i \right)^2 + \left(\alpha_{i+2} - \alpha_{i+1} \right)^2 \right] \\
&\quad + \frac{\lambda}{2} \sum_{i=0}^{k-1} \left[\left(\alpha_{i+1} - x_{i+1} \right) \left(\alpha_{i+2} - \alpha_{i+1} \right) - \left(\alpha_{i+1} - x_i \right) \left(\alpha_{i+1} - \alpha_i \right) \right].
\end{aligned}$$

By applying the parallelogram law for numbers on the terms in the first sum and rearranging the terms in the second sum, we have

$$\begin{aligned}
\int_a^b |K(t, I_k)| dt &= \sum_{i=0}^{k-1} \left[\frac{1}{4} \left(x_{i+1} - x_i \right)^2 + \left(\alpha_{i+1} - \frac{x_{i+1} + x_i}{2} \right)^2 \right] \\
&\quad + \frac{\lambda^2}{4} \left[\left((b - \alpha_k)^2 - (\alpha_1 - a)^2 \right) + 2 \sum_{i=0}^{k-1} \left(\alpha_{i+1} - \alpha_i \right)^2 \right] \\
&\quad + \frac{\lambda}{2} \sum_{i=0}^{k-1} \left[\left(\alpha_{i+1} - x_{i+1} \right) \left(\alpha_{i+2} - \alpha_{i+1} \right) - \left(\alpha_{i+1} - x_i \right) \left(\alpha_{i+1} - \alpha_i \right) \right]. \tag{2.10}
\end{aligned}$$

Now from Lemma 2.1 we have

$$\begin{aligned} (1-\lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) + \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - (B) \int_a^b f(t) dt \\ = (B) \int_a^b K(t, I_k) f'(t) dt. \end{aligned} \quad (2.11)$$

By taking the norm on both sides of (2.11) and applying Theorem 1.2, we obtain

$$\begin{aligned} \left\| (1-\lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) + \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - (B) \int_a^b f(t) dt \right\| \\ \leq M \int_a^b |K(t, I_k)| dt \end{aligned} \quad (2.12)$$

where

$$M = \operatorname{ess\,sup}_{t \in [a, b]} \|f'(t)\| < \infty$$

The desired inequality follows by substituting (2.10) in (2.12).

Corollary 2.3. If we take $\lambda = 0$ in Theorem 2.1, then we have the inequality

$$\begin{aligned} \left\| \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) - (B) \int_a^b f(t) dt \right\| \\ \leq M \sum_{i=0}^{k-1} \left[\frac{1}{4} (x_{i+1} - x_i)^2 + \left(\alpha_{i+1} - \frac{x_{i+1} + x_i}{2} \right)^2 \right] \end{aligned} \quad (2.13)$$

where

$$M = \operatorname{ess\,sup}_{t \in [a, b]} \|f'(t)\| < \infty.$$

Remark 2.1. If $k = 1$ in Corollary 2.3, then we obtain Theorem 1.4.

Corollary 2.4. Let $a, b \in \mathbb{R}, a < b$ and let $f : [a, b] \rightarrow X$ be an absolutely continuous function on $[a, b]$ such that $f' \in L_\infty([a, b], X)$. Then for any $x \in [a, b]$ we have the inequality

$$\begin{aligned} \left\| (1-\lambda) f(x) + \frac{\lambda}{2} (f(a) + f(b)) - \frac{1}{b-a} (B) \int_a^b f(t) dt \right\| \\ \leq M \left\{ \frac{1}{4} (b-a) ((1-\lambda)^2 + \lambda^2) + \left(x - \frac{a+b}{2} \right)^2 \right\} \end{aligned} \quad (2.14)$$

where

$$M = \operatorname{ess\,sup}_{t \in [a, b]} \|f'(t)\| < \infty.$$

Proof. The proof follows directly from Theorem 2.1 by taking $k = 2, x_0 = \alpha_0 = \alpha_1 = a, x_1 = x$ and $x_2 = \alpha_2 = \alpha_3 = b$.

3. Ostrowski-Grüss type inequality for vector-valued functions for k points

The following lemma is a particular case of Theorem 2 in [3].

Lemma 3.1. Let $a, b \in \mathbb{R}$ with $a < b$. If $g : [a, b] \rightarrow X$ is Bochner integrable on $[a, b]$ and there exist $v \in X$ and $r > 0$ such that $g(x) \in \overline{B}(v, r) := \{y \in X : \|y - v\| \leq r\}$ for a.e $x \in [a, b]$ and $\alpha : [a, b] \rightarrow \mathbb{R}$ a Lebesgue integrable function with αg Bochner integrable on $[a, b]$, then we have the sharp inequality

$$\begin{aligned} & \left\| (B) \int_a^b \alpha(t)g(t)dt - \frac{1}{b-a} \int_a^b \alpha(t)dt \cdot (B) \int_a^b g(t)dt \right\| \\ & \leq r \int_a^b \left| \alpha(t) - \frac{1}{b-a} \int_a^b \alpha(s)ds \right| dt. \end{aligned} \quad (3.1)$$

Theorem 3.1. Let $a, b \in \mathbb{R}$ with $a < b$, If $f : [a, b] \rightarrow X$ be absolutely continuous on $[a, b]$ such that f' is Bochner integrable on $[a, b]$. If there exist $v \in X$ and $r > 0$ such that $f'(x) \in \overline{B}(v, r) := \{y \in X : \|y - v\| \leq r\}$ for a.e $x \in [a, b]$, then we have the sharp inequality

$$\begin{aligned} & \left\| (1-\lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) + \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - (B) \int_a^b f(t)dt \right. \\ & \quad - \frac{1}{8(b-a)} \sum_{i=0}^{k-1} \left[\lambda^2 (\alpha_{i+1} - \alpha_i)^2 - (2x_i - \lambda \alpha_i + (\lambda - 2)\alpha_{i+1})^2 \right. \\ & \quad \left. \left. + (2x_{i+1} - \lambda \alpha_{i+2} + (\lambda - 2)\alpha_{i+1})^2 - \lambda^2 (\alpha_{i+2} - \alpha_{i+1})^2 \right] (f(b) - f(a)) \right\| \\ & \leq r \int_a^b \left| K(t, I_k) - \frac{1}{8(b-a)} \sum_{i=0}^{k-1} \left[\lambda^2 (\alpha_{i+1} - \alpha_i)^2 - (2x_i - \lambda \alpha_i + (\lambda - 2)\alpha_{i+1})^2 \right. \right. \\ & \quad \left. \left. + (2x_{i+1} - \lambda \alpha_{i+2} + (\lambda - 2)\alpha_{i+1})^2 - \lambda^2 (\alpha_{i+2} - \alpha_{i+1})^2 \right] \right| dt. \end{aligned} \quad (3.2)$$

Proof. By applying Lemma 3.1 to the functions $\alpha(t) := K(t, I_k)$ and $g(t) := f'(t)$ we have

$$\begin{aligned} & \left\| (B) \int_a^b K(t, I_k) f'(t) dt - \frac{1}{b-a} \int_a^b K(t, I_k) dt \cdot (B) \int_a^b f'(t) dt \right\| \\ & \leq r \int_a^b \left| K(t, I_k) - \frac{1}{b-a} \int_a^b K(s, I_k) ds \right| dt. \end{aligned} \quad (3.3)$$

But we observe that

$$(B) \int_a^b f'(t) dt = f(b) - f(a) \quad (3.4)$$

and

$$\begin{aligned} \int_a^b K(t, I_k) dt &= \frac{1}{8} \sum_{i=0}^{k-1} \left[\lambda^2 (\alpha_{i+1} - \alpha_i)^2 - (2x_i - \lambda \alpha_i + (\lambda - 2)\alpha_{i+1})^2 \right. \\ & \quad \left. + (2x_{i+1} - \lambda \alpha_{i+2} + (\lambda - 2)\alpha_{i+1})^2 - \lambda^2 (\alpha_{i+2} - \alpha_{i+1})^2 \right]. \end{aligned} \quad (3.5)$$

From Lemma 2.1, we have

$$\begin{aligned}
 (B) \int_a^b K(t, I_k) f'(t) dt &= (1 - \lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) t \\
 &+ \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - (B) \int_a^b f(t) dt
 \end{aligned} \tag{3.6}$$

The desired inequality is obtained from (3.3) by using (3.4)–(3.6).

Corollary 3.1. Let $a, b \in \mathbb{R}, a < b, f : [a, b] \rightarrow X$ be an absolutely continuous function on $[a, b]$ and f' is Bochner integrable. If there exist vectors $v, V \in X$ such that

$$\left\| f'(x) - \frac{1}{2}(v + V) \right\| \leq \frac{1}{2} \|V - v\| \text{ a.e } x \in [a, b]$$

then we have the inequality

$$\begin{aligned}
 &\left\| (1 - \lambda) \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) + \frac{\lambda}{2} \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) (f(\alpha_i) + f(\alpha_{i+1})) - (B) \int_a^b f(t) dt \right. \\
 &- \frac{1}{8(b-a)} \sum_{i=0}^{k-1} \left[\lambda^2 (\alpha_{i+1} - \alpha_i)^2 - (2x_i - \lambda \alpha_i + (\lambda - 2)\alpha_{i+1})^2 \right. \\
 &\left. \left. + (2x_{i+1} - \lambda \alpha_{i+2} + (\lambda - 2)\alpha_{i+1})^2 - \lambda^2 (\alpha_{i+2} - \alpha_{i+1})^2 \right] (f(b) - f(a)) \right\| \\
 &\leq \frac{1}{2} \|V - v\| \int_a^b \left| K(t, I_k) - \frac{1}{8(b-a)} \sum_{i=0}^{k-1} \left[\lambda^2 (\alpha_{i+1} - \alpha_i)^2 - (2x_i - \lambda \alpha_i + (\lambda - 2)\alpha_{i+1})^2 \right. \right. \\
 &\left. \left. + (2x_{i+1} - \lambda \alpha_{i+2} + (\lambda - 2)\alpha_{i+1})^2 - \lambda^2 (\alpha_{i+2} - \alpha_{i+1})^2 \right] \right| dt.
 \end{aligned} \tag{3.7}$$

Corollary 3.2. If we take $\lambda = 0$ in Theorem 3.1, then we have the inequality

$$\begin{aligned}
 &\left\| \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) - (B) \int_a^b f(t) dt \right. \\
 &- \frac{1}{2(b-a)} \left[b^2 - a^2 - \sum_{i=0}^{k-1} \alpha_{i+1} (x_{i+1} - x_i)^2 \right] (f(b) - f(a)) \right\| \\
 &\leq r \int_a^b \left| K(t, I_k) - \frac{1}{2(b-a)} \left[b^2 - a^2 - \sum_{i=0}^{k-1} \alpha_{i+1} (x_{i+1} - x_i)^2 \right] \right| dt,
 \end{aligned} \tag{3.8}$$

where $K(\cdot, I_k)$ is given by (2.6).

Corollary 3.3. Let $a, b \in \mathbb{R}, a < b$ and let $f : [a, b] \rightarrow X$ be an absolutely continuous function on $[a, b]$ such that f' is Bochner integrable on $[a, b]$. If there exist $v \in X$ and $r > 0$ such that $f'(x) \in \bar{B}(v, r) := \{y \in$

$X : \|y - v\| \leq r\}$ for a.e $x \in [a, b]$, then for any $x \in [a, b]$, we have the sharp inequality

$$\begin{aligned} & \left\| (1 - \lambda)f(x) + \frac{\lambda}{2}(f(a) + f(b)) - \frac{1}{b-a} \int_a^b f(t) dt \right. \\ & \left. - \frac{1}{8(b-a)} \left[(2x - \lambda a + (\lambda - 2)b)^2 - (2x - \lambda b + (\lambda - 2)a)^2 \right] (f(b) - f(a)) \right\| \\ & \leq r \int_a^b \left| K(t, x) - \frac{1}{8(b-a)} \left[(2x - \lambda a + (\lambda - 2)b)^2 - (2x - \lambda b + (\lambda - 2)a)^2 \right] \right| dt. \end{aligned} \quad (3.8)$$

where $K(\cdot, x)$ is given by (2.8).

Proof. The proof follows directly from Theorem 3.1 by taking $k = 2, x_0 = \alpha_0 = \alpha_1 = a, x_1 = x$ and $x_2 = \alpha_2 = \alpha_3 = b$.

4. Conclusion

Two main results have been established. The first result extends a result of Barnett et al in [2] for k points via a parameter $\lambda \in [0, 1]$. In the second part, a sharp Ostrowski–Güss type inequality for vector valued functions has been provided. Some particular cases have been considered as examples. These results generalizes the results in the literature for vector-valued functions.

Conflict of Interests

The author declares that there is no conflict of interests.

REFERENCES

- [1] G.A. Anastassiou, Ostrowski type inequalities, Proc. Amer. Math. Soc. 123 (12) (1995), 3775–3781.
- [2] N. S. Barnett, S. Buse, P. Cerone, S. S. Dragomir, Ostrowski’s inequality for vector-valued functions and applications, Comput. Math. Appl. 44 (2002), 559–572.
- [3] N. S. Barnett, P. Cerone, S. S. Dragomir, S. Buse, Some Grüss type inequalities for vector-valued functions in Banach spaces and applications, Tamsui Oxford J. Math. Sci. 23 (1) (2007), 91–103.
- [4] J. Dietsel, J.J. Uhl Jr., Vector measures, Amer. Math. Society, Mathematical Surveys 15, Providence, RI, (1977).
- [5] S. S. Dragomir, A generalization of the Ostrowski integral inequality for mappings Whose Derivatives belong to $L_p[a, b]$ and applications in numerical integration, J. Math. Anal. Appl. 255 (2001), 605–626.
- [6] W. J. Liu, Q. A. Ngô, W. Chen, A new generalization of Ostrowski type inequality on time scales, An. St. Univ. Ovidius Constanta, 17(2) (2009), 101–114.
- [7] W. J. Liu, Q. A. Ngô, A generalization of Ostrowski inequality on time scales for k points, Appl. Math. Comput. 203(2) (2008), 754–760.
- [8] J. Mikusiński, The Bochner Integral, Birkhäuser Verlag, Basel, (1978).

- [9] Q. A. Ngô, W. J. Liu, A sharp Grüss type inequality on time scales and application to the sharp Ostrowski-Grüss inequality, *Commun. Math. Anal.* 6(2) (2009), 33–41.
- [10] E. R. Nwaeze, S. Kermausuor, New Bounds of Ostrowski-Grüss type inequality for $(k + 1)$ points on time scales, *Int. J. Anal. Appl.* 15(2) (2017), 211–221.
- [11] A. M. Ostrowski, Über die Absolutabweichung einer differentiebaren Funktion von ihrem Integralmittelwert, *Comment. Math. Helv.* 10(1938), 226–227.
- [12] G. Xu, Z. B. Fang, A generalization of Ostrowski type inequality on time scales with k points, *J. Math. Inequal.* 11(1) (2017), 41–48.